normalized X2

[ normalized x? probability |

107

Ratio

0.

72_prob
465121
05624
03188

72 prol
265306
05624
03188

chi2_prob

265380
0.56:
0.31

chi2 o
— Enties 465121 Entries
- | Mean 1.013 Mean
Std Dev 0.816 0.045 Std Dev
I | T
chiz 0.04 ch
_[Entries 265306 Entries
Mean 1.013 - | Mean
Std Dev 0.816 0.035 Std Dev
: — 0.03
- [Entries 265380 Entries
Mean 1.013 0.025] Mean
Std Dev 0.8177 Std Dev
M M | 0.02 .
0.015]

X2

< x2/ndf >

iy

S =
(S
T T T

o
o]
o

%0 010203040506070809 1

Prob(x?)

m=m== DQM_V0001_R000000001__Global__mkFit_1lkstable
s DQM_V0001_R000000001__Global__mkFit_CANDIkstable
s DQM_V0001_R000000001__Global__mkFit_1kswitch
s DQM_V0001_R000000001__Global_mkFit_CAND1kswitch

T T

Ratio

< x2/ ndf >

< X2/ ndf >

Ratio

Ratio

1072

-1
AR(track, jelts)



	Contents
	Page 1


